'$bmgﬂm%wN%§E
A

=5 4Y/HIE o[0ix|

A= LAl DIN ISO 12240-4 2 =

=9
THE!:

|gum|d G3te%,
iglidur® W300 Ho{ 2o 734 24,

1, 09T Bx| Y =¥

E Fof HS Al L2 27t
# 20| E&LICH Ol= 3T4,

oo
%MI tOH, £4 ,-Jéri* X
3 o|sof Metect.
IN ISO 1224001 [t2} x|~ B4 Koi| S & LICt.

0% o

U ool-

P}
LiE 2ol Eo{&2 E100] 2t S ELICt Y AFZE &= h6 ~ h9 At
olof 318 ELICt.

=M
“ T TTTISH4
5
. =
= 5 2
“ LLLLLY,
L
T
N
m ' S X_ Q 8
8
A
E= 2%
igubal# £2}0|%) H|0{Z! 2= HI= 2HLIA} DIN ISO 12240-4 2} AL
FEHS HZE 2 D D1 D2D3ABB1H Hl K LL1ISW a max. 83 max 8% max. max.
33 EotN F2 EotN S EotN ST 2ot N
Bl 37| Bl 37|
K1466.104 SELEEO[LIA 5 M4 91227184 8 6 11,1109 9 15° 1000 500 250 125
K1466.105 SE&EO|LIAL 5 M5 91227184 8 6 11,1109 9 15° 1000 500 250 125
K1466.106 XE&EO|LIAL 6 M6 10133020 5 9 7 12,7 1210 11 14,5° 1400 700 400 200
K1466.108 <QLELEO|LIAL 8 M8 13163624 5 12 9 15,8 1612 14 12,5° 2100 1050 700 350

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/2



[ ]
gubal# =210|Z) HI0{2 2= I= QELIA} DIN ISO 12240-4 2} |
Al
= 29
FEHS H™ 2 D D1 D2D3ABB1H Hl K LL1ISW a max. H&  max. ¥x max max.
H ESN HHESN SHESN SHESN
Et7| el Et7| el
K1466.110 <JE&EO[LIAF10 M10  151943306,51410,5 19 2014 17 12,5° 3100 1550 800 400
K1466.110125 22E&F 0| LEAF 10 M10x1,25 151943306,51410,5 19 2014 17 12,5° 3100 1550 800 400
K1466.112 QEEHO|LIAF 12 M12 182250346,516 12 22,2 2216 17 12,5° 3600 1800 900 450
K1466.112125 LE&ZH0| LEAF 12 M12x1,25 18 2250346,516 12 22,2 2216 19 12,5° 3600 1800 900 450
K1466.114 22QE&ZXO|LIAF14  M14 20255738 8 1913,525,252518 22 11,5° 4000 2000 1000 500
K1466.116 SE&EO|LIAL16 M16 22276442 8 21 15 28,3 2821 22 11,5° 4200 2100 1300 650
K1466.116150 2E&ZH0| LIAF 16 M16x1,5 22276442 8 21 15 28,3 2821 22 11,5° 4200 2100 1300 650
K1466.118150 2= &% 0| LIAF 18 M18x1,5 25317146 10 2316,531,353223 27 11,5° 4600 2300 1600 800
K1466.120 <E&FEO0|LIAF20 M20 283477501025 18 34,9 3325 30 11,5° 5400 2700 2100 1050
K1466.120150 2E&ZH0| LEAF 20 M20x1,5 28 3477501025 18 34,9 3325 30 11,5° 5400 2700 2100 1050
K1466.1041 IEEOo| LA 5 M4 91227184 8 6 11,1109 9 15° 1000 500 250 125
K1466.1051 2I&TolLIAt 5 M5 91227184 8 6 11,1109 9 15° 1000 500 250 125
K1466.1061 2I&To| LIAL 6 M6 10133020 5 9 7 12,7 1210 11 14,5° 1400 700 400 200
K1466.1081 RI&EO| LIAL 8 M8 13163624 5 12 9 15,8 1612 14 12,5° 2100 1050 700 350
K1466.1101 21&%0o[LAF 10 M10  151943306,51410,5 19 2014 17 12,5° 3100 1550 800 400
K1466.1101251 |I&ZX 0| LtAb 10 M10x1,25 151943306,51410,5 19 2014 17 12,5° 3100 1550 800 400
K1466.1121 2IEFO0| LIAF 12 M12  182250346,516 12 22,2 2216 17 12,5° 3600 1800 900 450
K1466.1121251 2/&ZF0| LIAF 12 M12x1,25 18 2250346,516 12 22,2 2216 19 12,5° 3600 1800 900 450
K1466.1141 RI&EO0|LIAF 14 M14 20255738 8 1913,525,252518 22 11,5° 4000 2000 1000 500
K1466.1161 RIEZO0|LIAL 16 M16 22276442 8 21 15 28,3 2821 22 11,5° 4200 2100 1300 650
K1466.1161501 2I&Z 0| LtAL 16 M16x1,5 22276442 8 21 15 28,3 2821 22 11,5° 4200 2100 1300 650
K1466.1181501 2/&Z 0| LtAF 18 M18x1,5 25317146 1023 16,5 31,353223 27 11,5° 4600 2300 1600 800
K1466.1201 RI&=E0|LIAF 20 M20 283477501025 18 34,9 3325 30 11,5° 5400 2700 2100 1050
K1466.1201501 2I&Z 0| LtAF 20 M20x1,5 283477501025 18 34,9 3325 30 11,5° 5400 2700 2100 1050
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



